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2L A 97.8 IR 97.7 1,728 810 810 13 A LL
IZALA 31.3 £ % 15.3 1,944 — 1,836 10 A LL
IZALA BIR 15.2 — 1,404 — 0] A LL
ZIES5 0.6 BIR 0.4 1,944 — 1,296 2l A M
[E<E0 161.9 IR 158.9 1,836 1,728 1,674 15 A 6
HTE 1.8 2 1.2 - 2,160 - 5
ZED 5.1 E [ 2.9 2,160 1,836 1,836 4l A L
FrRy 105.4 R 103.8 1,944 — 1,242 0] A 8
IE5NAZES 2.8 BIR 1.3 3,456 3,456 2,808 4f A M
IE5NAZES 12 [H 1.0 - 3,564 - 6] A L
hE 13.4 ERE 9.8 1,836 1,728 1,620 3l A LL
hE =I5 0.7 1,620 — 1,296 3l A LL
_hE 1.3 = B 0.9 6,480 3,240 3,240 3] vay S
_hE 12 [ 0.2 3,888 — 3,240 3 vay M
LwA=E< 0.8 BRE 0.6 3,240 1,944 1,944 4f A
125 25 =0 1.6 8,640 8,640 8,100 5] vay
+)L)— 1.6 2 [ 1.1 3,024 — 2,700 0] A LL
FRINTGHR 0.3 A¥L O 0.3 259 259 248 0.1
HhyI757— 1.2 BRE 0.5 — 1,404 — 4f A 6
JOyal)— 6.0 BRE 3.2 — 4752 — gl A LL
LARZR 27.9 E & 12.1 2,376 1,944 1,836 0] A 12
LAR 2 [ 9.0 2,376 1,512 1,296 4f A L
FoTHA 1.3 BRE 0.7 2,592 1,836 1,728 4f A L
=Y 16.9 BRE 13.5 2,592 2,160 2,052 5/ A L
=p5Y ElG 3.1 2,592 2,376 2,160 5] A M
ANESSES) 5.0
HY 2.9 E X 2.6 3,888 — 3,780 5 L
He BRE 0.1 - 2,160 — 4l A LL
k< 8.7 E X 45 324 194 194 0.5
k< BRE 3.9 1,404 1,296 1,188 4 B LL
I=kTh 6.2 BRE 6.0 162 119 119 02 A M
E—<> 13.0 BERE 12.1 6,480 — 5,400 10 A LM
F—<> = I 0.7 — 6,804 — 7.8 A M
[2H5Y 0.1 =l - 4,320 — 6
SPVAITFA 0.1 BRE 0.1 — 4320 — 2
SPZAES 1.2 BRE 1.2 — 1,296 — 1 A
E—X 0.1 BRE 0.1 — 1,620 — 1 A
MrAL& 5.5 E X 2.9 1,944 1,944 1,620 5 S
[E€ AT 471 £ % 31.0 3,456 - 3,348 10] vay LL
[ECTRYNS JtiEE 16.1 108 - 86 0.5
[ECTRYNS JtiEE 3,780 - 3,240 10 vay L
=L 1.8 BRE 1.3 3,240 - 1,620 5
AL 1.7 "5 & - 5,184 — 10 B 4L
f=Fh&E 37.7 JtiEE 36.6 3,240 - 3,132 200 A L
ELLV=T 1.8 BRE 0.1 — 119 — 0.1 M
HELLV=IT =l 1.1 184 — 173 0.1 A M
ZDEET 5.1 K & 35 59 43 43 0.1 A
ZDEET =l 1.4 51 — 41 0.1 A
LHL 2.6 2 [ 2.6 140 130 86 0.2
ESES T 626.8
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BMAHMAEE 8.6
iR 8.6 N 5.9 5,184 4,320 4212 10 L
iR B K 6,480 6,480 5,184 10 M
iR B K 7,020 6,480 5,940 10 S
iR £ % 0.9 - 8,910 — 15| va9 L
iR E 15 - 8,910 — 15| va9 M
iR E 15 - 8,910 — 15| va9 S
*x—JJL 0.3
LEAIA 0.1 T I 0.1 4428 — 4,320 10l vay 3L
R hy 3.8 BIR 2.9 5,184 5076 4,320 0] A M
LEY 1.8 TA)H 1.8 - 9,720 — 17 165
INLULT 1.9 = I 1.9 8,316 7,776 7,560 17 72
L7y 0.1 = M 0.1 — 6,480 — 15 40
HmohrAED 0.1 AFO 6,264 — 5,616 4
YATE 17.8
23 F3ILK 1.8 "5 & 1.8 7,020 — 6,480 10[ MA 28
AL 13.0 "5 & 12.6 - 5,400 - 100 32
T4k 2.3 5 & 2.3 5,400 5,184 4,860 10{ 74k4
WEET 1.2
=21 1.2 2 [ 1.2 2,808 — 2,700 5] A L
W5 45 BRE 1.7 702 540 518 025 A L
AOVEF 1.2
7—ILR 0.7 BRE 0.6 — 9,720 — 8| 7hva L
ZFDAOY =I5 7,560 — 6,480 gl A M
INFF 12.0 EYEY 11.2 5,940 4,104 3,694 15
NAFyFTIL 3.0 EYEY 2.9 3,456 2916 2,700 10 8
FoA4T)LY 3.2 = 3.2 3,456 2,624 2,624 3.6 A L
RERET 64.0




